Transactions per second
o = = N N w
(9] o () o ()] o

o
o

0.25

0.20f

©
=
U'I

0.10

Transactions per second

0.05f

0.00

EXT2: Transaction rate average

RAID O

10

Transactions per second

009 &0

e 20 K \C C \C N A
N C S \& XN 0 ¢}
AW (S ) S 2 r\o(‘ (\o\ 0
ae® N N ?° & &X

EXT2: Transaction rate standard deviation

0.09

0.08

©c o o ©
© o o o
2 0 o

o
o
w

Transactions per second

0.02

0.01f

(\009 &0 6\\(\8 (,696 (;)6‘& 'a(“\c a(\{\c Qe e \0.\(;0\

N o o X °
i ° o ¢ &&X

0.00

XFS: Transaction rate average

009 &0

e ‘\ \C \C A& O\

o) N 9 O §
68 ° a‘p 2N (&0\

XFS: Transaction rate standard deviation

(\OOQ ‘\\{\0 6\\(\8 (’6(/6 (’696 ,a(\‘\(’ 6(\\‘—\6 ,\6\ '\ \G \0\0)0\

> o o KX °
Q¢ ) ag(\ C &



RAID 1+0 (2 disks)
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RAID 1+0 (4 disks)
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RAID 5
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